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+HQGUR 6WHYHQ 7DPSDNH� ���� ´3HQJJXQD $MD[ SDGD 3HQJHPEDQJDQ $SOLNDVL
:HE´� -XUQDO 7HNQRORJL ,QIRUPDVL�$LWL � KDO� ������

-DVVRQ� ����� 5ROH 3OD\LQJ *DPH� 3HUNHPEDQJDQ *DPH� <RJ\DNDUWD� $QGL 2IIVHW�

1DGLD )LUO\� ����� &UHDWH <RXU 2ZQ $QGURLG $SSOLFDWLRQ� -DNDUWD� 37
(OH[ 0HGLD .RPSXWLQGR�

:DKDQD .RPSXWHU� ����� ³0HPEXDW *DPH 53*´� ³$QGL 2IIVHW�´

:LFDNVRQR� 6LJLW� ����� *DPH 3HWXDODQJDQ 3DSHUX 'HQJDQ 0HQJJXQDNDQ
53* 0DNHU 9;� -XUQDO 7UDQVLW� 9RO � ��� ��������

:XODQGDUL 'ZL $� ������� *DPH (GXNDWLI VHMDUDK .RPSXWHU 0HQJJXQDNDQ 5ROH
3OD\LQJ *DPH �53*� 0DNHU ;S�


